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(a)

Figure 2: Given Execution Schedule
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Figure 3: Event 0 (Same across all scenarios)
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(d)

Figure 4: Scenario 0, Event1 - {Breakdown, Itin 0, Stop 2, Repair 80}; Event2 - {Breakdown, Itin 2, Stop 4, Repair 80}
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(d)

Figure 5: Scenario 1, Event1 - {Breakdown, Itin 0, Stop 2, Repair 80}; Event2 - {Breakdown, Itin 2, Stop 4, Repair 60}
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Figure 6: Scenario 2, Event1 - {Breakdown, Itin 0, Stop 2, Repair 80}; Event2 - {Breakdown, Itin 2, Stop 4, Repair 40}
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Figure 7: Scenario 3, Event1 - {Breakdown, Itin 0, Stop 2, Repair 80}; Event2 - {Breakdown, Itin 2, Stop 4, Repair 13}
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Figure 8: Scenario 4, Event1 - {Breakdown, Itin 0, Stop 2, Repair 60}; Event2 - {Breakdown, Itin 2, Stop 4, Repair 80}
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Figure 9: Scenario 5, Event1 - {Breakdown, Itin 0, Stop 2, Repair 60}; Event2 - {Breakdown, Itin 2, Stop 4, Repair 60}
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Figure 10: Scenario 6, Event1 - {Breakdown, Itin 0, Stop 2, Repair 60}; Event2 - {Breakdown, Itin 2, Stop 4, Repair 40}
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Figure 11: Scenario 7, Event1 - {Breakdown, Itin 0, Stop 2, Repair 60}; Event2 - {Breakdown, Itin 2, Stop 4, Repair 13}
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Figure 12: Scenario 8, Event1 - {Breakdown, Itin 0, Stop 2, Repair 40}; Event2 - {Breakdown, Itin 2, Stop 4, Repair 80}

11



1
3

0

2
7

0

2
0

0

1
4

0

2
7

0

3
9

0

4
0

0

5
3

0

4
1

0

2
9

0
2

9
0

4
2

0

3
1

0

5
0

1
7

0

4
2

0

3
1

0

5
0

1
8

0

3
2

0

2
1

0

4
5

0

3
2

0

1
9

0

3
8

0

2
0

0

1
6

0

2
5

0

2
0

0

3
3

0
3

3
0

3
3

0

2
1

0

3
4

0

2
1

0

3
4

0

2
3

0

2
2

0

3
5

0

2
6

0

3
6

0

4
9

0

3
6

0

3
7

0
3

7
0

3
7

0

2
4

0

2
5

0

3
8

0
3

8
0

1
2

0

5
1

0

2
5

0

5
1

0

3
9

0

time

KTCM

KDOV

KBIF

KNGU

KNKX

KRIV

KNIP

KWRI

LERT

LEMO

DTTB

DTTJ

DTMB

HLLT

lo
ca

ti
o
n

Itinerary Number

0
1
2
3
4

(a)

1
3

0

2
7

0

2
0

0

1
4

0

2
7

0

3
9

0

4
0

0

5
3

0

4
1

0

2
9

0
2

9
0

4
2

0

3
1

0

5
0

1
7

0

4
2

0

3
1

0

5
0

1
8

0

3
2

0

2
1

0

4
5

0

3
2

0

1
9

0

3
8

0

2
0

0

1
6

0

2
5

0

2
0

0

3
3

0
3

3
0

3
3

0

2
1

0

3
4

0

2
1

0

3
4

0

2
3

0

2
2

0

3
5

0

2
6

0

3
6

0

4
9

0

3
6

0

3
7

0
3

7
0

3
7

0

2
4

0

2
5

0

3
8

0
3

8
0

1
2

0

5
1

0

2
5

0

5
1

0

3
9

0

time

KTCM

KDOV

KBIF

KNGU

KNKX

KRIV

KNIP

KWRI

LERT

LEMO

DTTB

DTTJ

DTMB

HLLT

lo
ca

ti
o
n

Itinerary Number

0
1
2
3
4

(b)

3
9

0

2
6

0

3
0

0

2
7

0

4
0

0
4

0
0

2
7

0

1
3

0

5
3

0

4
1

0

2
1

0

4
1

0
4

1
0

2
9

0
2

9
0

1
6

0

4
2

0

5
5

0

5
0

1
7

0

4
3

0

5
0

1
8

0

4
4

0

3
1

0

1
4

0

1
9

0

2
0

0
2

0
0

5
3

0

3
3

0

2
0

0

5
1

0

2
1

0

4
7

0

3
4

0

2
1

0

2
2

0

3
5

0
3

5
0

2
3

0

3
6

0
3

6
0

3
7

0

2
4

0

3
7

0

2
5

0
2

5
0

3
8

0
3

8
0

1
2

0

2
5

0

3
9

0

time

KTCM

KDOV

KBIF

KNGU

KNKX

KRIV

KNIP

KWRI

LERT

LEMO

DTTB

DTTJ

DTMB

HLLT

lo
ca

ti
o
n

Itinerary Number

0
1
2
3
4

(c)

3
9

0

2
6

0

2
7

0

4
0

0
4

0
0

2
7

0

1
3

0

5
3

0

4
1

0
4

1
0

2
9

0
2

9
0

1
6

0

3
1

0

4
2

0

5
5

0

5
0

1
7

0

4
2

0

4
3

0

5
0

1
8

0

4
4

0

1
4

0

3
2

0
3

2
0

1
9

0

2
0

0
2

0
0

5
3

0

3
3

0

2
0

0

3
3

0
3

3
0

2
1

0

4
7

0

2
1

0

3
4

0

2
1

0

2
2

0

3
5

0
3

5
0

3
6

0

2
3

0

3
6

0

3
7

0
3

7
0

2
4

0

3
7

0

2
5

0
2

5
0

5
1

0

3
8

0

1
2

0

3
8

0

2
5

0

3
9

0

time

KTCM

KDOV

KBIF

KNGU

KNKX

KRIV

KNIP

KWRI

LERT

LEMO

DTTB

DTTJ

DTMB

HLLT

lo
ca

ti
o
n

Itinerary Number

0
1
2
3
4

(d)

Figure 13: Scenario 9, Event1 - {Breakdown, Itin 0, Stop 2, Repair 40}; Event2 - {Breakdown, Itin 2, Stop 4, Repair 60}
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Figure 14: Scenario 10, Event1 - {Breakdown, Itin 0, Stop 2, Repair 40}; Event2 - {Breakdown, Itin 2, Stop 4, Repair 40}
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Figure 15: Scenario 11, Event1 - {Breakdown, Itin 0, Stop 2, Repair 40}; Event2 - {Breakdown, Itin 2, Stop 4, Repair 13}
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Figure 16: Scenario 12, Event1 - {Breakdown, Itin 0, Stop 2, Repair 13}; Event2 - {Breakdown, Itin 2, Stop 4, Repair 80}
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Figure 17: Scenario 13, Event1 - {Breakdown, Itin 0, Stop 2, Repair 13}; Event2 - {Breakdown, Itin 2, Stop 4, Repair 60}
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Figure 18: Scenario 14, Event1 - {Breakdown, Itin 0, Stop 2, Repair 13}; Event2 - {Breakdown, Itin 2, Stop 4, Repair 40}
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Figure 19: Scenario 15, Event1 - {Breakdown, Itin 0, Stop 2, Repair 13}; Event2 - {Breakdown, Itin 2, Stop 4, Repair 13}
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